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HEGIR : PARX2
HDCP#HIBR: 8360 Z 360 B Y-rX360 & Y7360
BRI : Ry >N\ T>EFR

[RUKR—IL:0OUT:2 36 7 89

IN:1O0O 11121617 18
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g fi1 HIRES Rl | OUT IN GROSS | HDCP | NET AE
B B 4B BA B 40 40 80 10.8 | 69.2 Z151254,000MH
EBES NP BT B 41 41 82 12 70 £151253,000MH4
clivi mE 1 B 43 41 84 132 | 708 £151253,000MH
41 Pk =7 z 46 48 94 228 | 71.2 251252,000H
51t miE B B8 47 43 90 18 72 Z151252,000M
o1 Bl A 8 44 45 89 16.8 | 72.2

1 SvF-—T8 H ER B 46 43 89 16.8 | 72.2 ZI51251,500M
8fi1 A =E 8 48 45 93 204 | 72.6
ofi1 NG IEF z 52 47 99 26.4 | 72.6
101tz F®E W B 43 43 86 13.2 | 728 ZI51251,500M
1141 N 58 46 45 91 18 73
12fi1 ATE  —ER B 41 43 84 10.8 | 73.2
131z s [EEE 5 42 40 82 8.4 73.6
1441 RE F 8 47 47 94 204 | 73.6
1511 mAE WE 2] 43 44 87 13.2 | 738 Z51251,500MH
16fi1 EN EFER 5 44 43 87 13.2 | 738

171 BGE (B1%) ERE Bk 5 39 35 74 0 74 Z151251,5008
18fi1 Wx =— B 39 41 80 6 74

19fi1 BHE FE #K£F T 44 42 86 12 74 ZI51251,500M
20fi1 mgE =FK z 40 45 85 10.8 | 74.2 Zl51251,200H
2111 meE  KE 5 43 47 90 156 | 74.4
2211 Rk JTa 8 44 46 90 15.6 | 74.4
23fi1 KB BES % 42 47 89 14.4 | 74.6
2411 ik shE 8 44 45 89 144 | 74.6
2511 B & 2] 46 49 95 20.4 74.6 Z151251,2008
2611 e IESA B 49 46 95 204 | 74.6
2711 HK# =R z 48 47 95 20.4 | 74.6
28(i TB EA-— B 56 45 101 264 | 746
29fi1 ErRK HW5E 58 38 44 82 7.2 74.8
30fi1 miE ER 5 43 45 88 132 | 748 ZI51251,000H
3111 Bith EEF = 42 46 88 13.2 | 7458
32fi1 KE ES 5 47 47 94 19.2 | 74.8
331 A & L2 40 41 81 6 75
3441 hEE BE 8 45 36 81 6 75
35fi1 FEilE *A % 48 39 87 12 75 ZI51251,000H




36fi1 Rk B 5 50 49 99 24 75
3711 #E BE 5B 44 48 92 16.8 | 75.2
381 INE B— L2 45 46 91 15.6 | 75.4
3911 T & 8 52 45 97 216 | 75.4
40fi1 &F ¥ £°3 51 52 103 276 | 75.4 ZI51251,000MH
41111 £k Ei& 5B 40 44 84 8.4 75.6
42fi1 BGE (&) el & z 43 40 83 7.2 75.8 ZI51251,500H
43fi1 BN +=1# B 46 43 89 132 | 758
4441 INROEAN 5 51 50 101 252 | 75.8
4541 A RX B 42 45 87 10.8 | 76.2 ZI51251,000M
4611 2a FEF z 46 47 93 16.8 | 76.2
4711 AKOFIE z 42 51 93 16.8 | 76.2
48fi1 #H & 5 50 49 99 228 | 76.2
4911 =R — 5B B 44 47 91 144 | 76.6
501tz ;AR FIE B 44 46 90 13.2 | 76.8 ZI51251,000H
5111 I+E XE& z 50 46 96 19.2 | 76.8
521 =L E 8 45 44 89 12 77
5311 #E - 5 46 49 95 18 77
5411 RE EM 8 43 45 88 10.8 | 77.2
5511 BR &7 5 50 55 105 276 | 774 ZI51251,000M
5611 FElE &¥ T 42 49 91 13.2 | 77.8
571 AR Ek 8 52 50 102 24 78
5811 WEH wAa 8 49 51 100 216 | 78.4
5911 P B2z B 48 51 99 20.4 | 78.6
60fi1 fHE ZK5F B 44 46 90 10.8 | 79.2 ZI51251,000H
611 & A 5 50 52 102 228 | 79.2
6211 RKH FoHH z 52 52 104 228 | 81.2
63fiI BBE AR K 58 49 48 97 14.4 | 82.6 Z51251,500MH
6411 & RF z 59 56 115 31.2 | 838
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